Subtraction without Borrowing
Subtraction of 1-digit Number from 2-digit Number.(Without Regrouping)

1. Subtract the following:

TO TO TO
a. 3 5 b. 4 8 c. 5 6
) — 4 -3
d TO e. 10 . TO
69 73 8 9
_ 5 -3 ~- 8

2. Subtract the numbers and then check your answer.
a. T O T O b. T 0 T O

9 8 6 7
- 32 F

S O

3. Write True or False.

a. We can subtract a greater number from a smaller number.

b. In subtraction, we always write the smaller number above

the greater number.

c¢. We subtract the digits at the ones place first. .

d. When there is no digit at tens place, it is zero.




4. Find the difference and colour as many circles as answer.

a.

C.

T O b. T O
18 2 5
> [COO000C000J0] ) 2 S
o65050008 [TIITITIIT
T O d. T O
3 9 [0000 3 8
7 [0O0O0000000] . g
[0COCO000000] [0O0CO00000]
[0O0000000Q) [0O00000000!
[0O00000000] [0O0CO00000]

To subtract a 2-digit Number from a 2-digit Number

5. Subtract the following.

a.

e.

TO
8 5
-6 3

TO
8 4
-3 1

TO
9 4
-5 3

b. T O
7 6
-5 4

4 2
-2 2

69
-2 8

c TO
79
-2 1

6 7
-3 4

56
-2 1

97
-7 3

h. TO
8 1
-6 0

90
-4 0




